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Jordan Saves Money

Jordan wants to give $15 to help kids who need school

supplies. He also wants to buy a pair of shoes for $39.
Explain your thinking in two ways by using words, pictures, number
sentences, and/or models.

1. How much money will he have to save for both?

Jordan will have to save $ 5 :l for both, because
1f he .f’/leL hds | 5 Tiuf %,unf ?— (7@

enaght” 8 SO0 he e cds o
Save *54 becadse bB+33 =54,
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2. Jordam gets $5 a week for his allowance. He plans to save his
allowance every weelk. Jordan thinks it will take 10 weeks to
reach his goal. His brother says it will take 11 weeks. Who is
correct and why?

|
|
|

.DQ@

DB
U

'HIS br@ﬂkf Is correct, because_ lT‘ V(/-) ()( Cﬂj d
ton that  will Qily " be 50 so

i/ :g f&jffr +hd/] ICQYOC{

i

b | @ﬁa:?gx{ff il pe w"?}
S 'ch‘:i T VY the b rﬁ‘e A
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Jordan Saves Money

Jordan wants to give S’IJ_S to help kids who need school

supplies. He also wants to buy a pair of shoes for $39.

Explain your thinking in twoe ways by using words, pictures, number
sentences, and/or models.

1. How much money will he have to save for both?

Jordan will have to save $ g- for both, because
the schoel ,uDh lies 1S ﬁff? gﬁfp
e Shder  are | N hnd
:q <q 'fjﬂb «-jgi* Ahd tHagrt What
= did s \}.ul Tk HALS
m_p!:al lem [the_ Crsk numnber of e
‘\Ukﬂ’\@\,éé”ﬁ -~ L USe d % ;fuf-ju e ’iﬁsh} ’i’
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Z. Jordam gets $5 a week for his allowance. He plans to save his
allowance every week. Jordan thinks it will take 10 weeks to
reach his goal. His brother says it will take 11 weeks. Whao is
correct amd whw‘?

M@Q&Lﬁ‘ﬂs correct, begause I ! U!if‘l ?/@ /‘ + m@

SO0 UIS AN counted 4p 4

H )h%r.m,ui? I WA S m\u\ﬂmq

oy £s H/e the 5 [0,

/

l/ﬁ 2G, 25 97 “'} wd u({;;!} j/ UZ’
1 sur num/oa\,\‘ Oh_top
he oiher  number

f
S 5 Hve correct QN S W

‘S}

O
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3. Jordan remembers his sister’s birthday is next month. He sets
a goal of saving $16 for her gift. How much will Jerdan have to
save to be able to buy the school supplies, new shoes, and
birthday present? Jordan uses a part-part-whole model.

]

i ,:"j

| i

; : *
| ) !
2 — s G |
\ 3y I - B [
1 R %' b T ™\ | | l"\ g !
| O RN ERL
‘ _ | i !
L T ) i !

Jordan will have to save $ Z ( 2 to buy all three things. Explain

Jordan’s thinking.

j ordan: used  vhe ]m - {} Q
. l’\ orot

Bq e 4 4

e SVaTED r;}\ "F**{‘j 1@ I; P - en
. | g
N cguntrd T, QﬂJJ

) Ay )’7{ » :{ < Tine N %"”V}"}D i ?@_

a¥a) 5/(_ ST re A \ﬂv,/’}*ﬂ'x
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4. How many weeks does Jordan have to save his allowance to be
able buy all three things?

Jordan will now have to save his allowance for I ] weeks to
reach his goal, be@auge
)OF\ L%Om counrrd L)\ b, ;omof
ln e Starred with W) AN sf'j__
coUntx ol o /kb s
S [0 15 20 0% 3095 ub uh ey
55 @O C/‘;EE 25 and I

hoar il‘ Cre OQ %"”;f‘} ¢ 1o of J»-»i o Afhen
| Yy g [ S e » | ' g ’,«-"' k
Nimkers and stopdd gt WY”?em
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3. Jordan remembers his sister’s birthday fs next month. He sets

a goal of saving $16 for her gift. How much will Jordan have to
save to be able to buy the school supplies, new shoes, and
birthday present? Jordan uses a part-part-whole model.

\ - = T, \

% _\\’\'k‘ \ - i{ ) J? | r( }

Ea - oo i h

— E— ) |
- {

!w-vd”””"m"ﬂ

1 7 \v - &

/
{

Jordan will %aw@ tosave $_/ N/ 7 O to buy al

| three ﬁhﬂgs Explain

Jordan’s thinking.

T oded 2 tens cmd 9 oges  That
makes 39 . lfon ang 5 ones s

s 15,

| Ten Cifd 6 ones make (6.

And T counted the tons 't was 5
and 7 ones (""Z?é’}dw 1 L EW Thm‘- hL
was Y70, “
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4. How many weeks does Jordan have to save his allowance to be
able buy all three things?

Jordan will now have to save his allowance for I L/ ﬁﬁ weeks to

reach his goal, because

T started by Y to |0 |5 20O
29 30 29 HO Y9 90 59
o0 &9 cng 7O 4 d T couwed
the cl\rcles dml I+ was
Y so Lt wq 4 weekS,
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Jordan Saves Money

Jordan wants to give $15 to help kids who need school

supplies. He also wants to buy a pair of shoes for $39.
Explain your thinking in two ways by using words, pictures, number
Sentences, and/or models.

1. How much money will he have to save for both?

TN

Jordan will have to save $ ! ) z

P“? HE=5 and

‘./f}éA (‘*Q&h

for both, because

Fretl

l[) 1/ (ASH ﬂﬂ‘)

Lnﬁ HCAI’Y\D&l/‘, }lh

O\h

i

FO\V\/!F\J

Knaww

thic

DLASE

=3

+hP mqﬁ,
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2. Jordan gets $5 a week for his allowance. He plams to save his
allowance every week. Jordan thinks it will take 1.0 1 weeks to

reach his goal. His brother says it will take 11 weeks, Who is
correct and why?

9 BJL{J /—fg)i: 0 %

L\IS b?\fﬁ-b‘f:‘f is correct, b@@@lﬁﬂS@fQ Y OLA Qkﬂ) fPQUxf‘\\{_
by Pes [[Hionee Tar van gef®h5

Qnel 7(\ \m;\ B jgf“‘ov\m fDV el
JOwLmnm ,‘Hnm Yoia Qe 7@ it
2e10) Jarl _af Five. and There
Was wﬂ@l ﬁ“
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3. Jordan remembers his sister’s birthday is next month. He sets
a goal of saving $16 for her gift. How much will jordan have to
save to be able to buy the school supplies, new shoes, and
birthday present? jordan uses a part-part-whole model.

h Y ‘r
! { F
| ' !
ﬁ i B & j”
\ S - i - ) —"!ﬁ["ﬁ—;_%_ 4
) {0 = . v i

1 ﬁ\k‘“r\ LY | % ﬂ i |

~ !ﬂi‘ = W !J

' i

Jordan will have tosave $_/ /| 70 | to buy all three ‘Ehﬁngsa Explain

Jordan’s thinking.

Q})r\rfom- T}\ ﬂk g 0 ) 71

(z\‘??ff\ﬁ hﬁmr’\d
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4, How many weeks does Jordan have to save his allowance to be
abﬂc ibmy all three thm% '

]
Jordan will now have to save his allowance for J L‘l} weels to

reach his goal, because

Lhe .counle by 70\/4::»@
ijxr © N, 7L:m€< AQ!’\%
he -z,fx_/f:mu gel” /0,
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Jordan Saves Money

Jordan wants to give $15 to help kids who need school

supplies. He also wants to buy a pair of shoes for $39.
Explain your thinking in two ways by using words, pictures, number
sentences, and/or models.

1. How much mm{iey will he have to save for both?

P ”“|7_,IB

0+
0
oy

4
Lr
g

50
o+

A

BRI (;":""'im
/\ /\

E 1 5 }

S

=44

Jordan will have to save $ tl for both, because

L‘wi'. Wih Nte My Y C(‘LM \ vyl o0
- . - - i —
Odhe [ L0 P?e‘iﬁ* _agri a_po [ o Shoe: o
|
l] PVS’EAH;; I ¢ (L wi ||
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2. Jordan gets $5 a week for his allowance, He plans to save his
allowance every week. Jordan thinks it will take 10 weeks to
reach his goal. His brother says it will take 11 weeks. Who is
correct and why?

L
His brother s correct, because_| QICID@OQ ont Jy
D

A"

(\ .! ™ ANk e § ) ~
flves  gaed i+ wor )| Heges

L

£ives n_tp ’é : ?}h t 4o BY¥ byt Hherp
wWh e e E XL (G
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3. Jordan remembers his sister’s birthday is next month. He sets
a goal of saving $16 for her gift. How much will Jordan have to
save to be able to buy the school supplies, new shoes, and
birthday present? Jordan uses a part-part-whole model.

| I
= b - JJ } R
— {
P
— / \

Jordan will have to save $_7) to buy all three things. Explain

Jordan’s thinking.
&)(} {Fi\ 1) il kﬂrv\) +}\\‘ g i ' '( \ o= g ‘d} Y ‘u:: }{ a,;"l{«/\f )
\ Lo A
Ko {s :ﬁt gy }Lo Ce 1)\6% &cf{_f"ﬁ | @ +0 r}i’% ¢ L\m N

F t "’5.‘ . ! .
he  woll have The oncer Fiog el AW

4
\
n /J

i ! 1‘" i §ony
| ; ; T | — i A
‘Lﬂ@h@_ tho b 39 3 5 — 2 L 50, YUy A

o

L6 ‘m 1Y by F the Yo dbhen drthe Onhes

55

Los Angeles Umﬁed School D tT‘]Ct Grade 2 -Aligned Task - 12.4.15 7 O@




Micok
4. How many weeks does jordan have to save his allowance to be
able buy all three things?

O

%é) [ENR I @ej k—_g | lé _\ ’);3;“ 15 1L
QBB [

] PEELE piigd
\L\ \

: j THJ\/\/QL}&

[‘J e *’ \
Jordan will now have to save his allowance for I ) ni weeks to
reach his goal, because
| [ - | Y Ap
]'-) B k]l e 2L, e'; lL\ gl ir g\l f}" f".}\/ T
Nave enfun Yo Sowl  foy do ges
/ =7
\ ~ | : - ,.‘-‘[ ¢ ! )/
It Schpol Sipplies . A +heo shgec. ol
T x|
f \
[ - e | Vo Cv. 7
@ AN %; f ol fir, %{0 V Y\_{’A\g =0 70 S +
A .4[4 | Weels md keep covntir 'y
d i S
_f)}" TiVes 1N "’"f“ N {
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Jordan Saves Money

Jordan wants to give $15 to help kids who need school

supplies. He also wants to buy a pafr of shoes for $39.
Explain your thinking in two ways by using words, pictures, number
sentences, and/or models,

1. How much money will he have to save for both?

f:5 +~55C’

[0+ 30=-414O"

/)O.{««"ZO =506
coty =54

Jordan will have to save $ 5 L'l for both, because

L e tens o Lind e ancwer and
2O e 5‘-‘9{% an (‘J M}i NS per™ add af_ﬁ’ U

i‘" ol rf‘rfy_c‘;“f"i’wi,fdg"'f
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2. Jordan gets $5 a week for his allowa ANCce. e plans to save his
allowance every week. Jordan thinks it will take 10 weeks to

reach his goal. His brother says it will take 11 weeks. Who is
correct and why?

L ]

jﬁf dmg &@h is correct, because t)() ot ("V\f’f{ IGP\
b\)ﬁ"iii:‘% (S Qf*ﬁggg YL‘QkP 0 e O ks
i@ﬁﬂ‘o r\dam«: br\aﬁgﬁ £ C ol ”‘Caijﬁ z:;s..{o@ wt

¢ esto mite.
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3. Jordan remembers his sister's birthday is next month. He sets
a goal of saving $16 for her gift. How much will jordan have to
save to be able to buy the school supplies, new shoes, and
birthday present? jordan uses g part-part-whole model.

Jordan will have to save $ -70

to buy all three things. Explain

Jordan’s thinking.

locdan {5 Hoinking ot e coulel decompce

The (5 N eq e partS Y0 figler tens gnd
]l_—j/l@f\ &JCI ?Lsﬁlﬂ H\em f”f);m}f?m_m Ey H"‘ 1A,ﬁ§§)fd’

be easjer heypine Hiere cymd NG
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4. How many weeks does Jordan have to save his allowance to be
able buy all three things?

Jordan will now have to save his allowance for _. , L{ weeks to
reach his goal, because
L Koo trat he fad 'S 4 week oy
@ ”0[4/01;/1 ce SO 1 S }C\//m}, -~ 06UN ‘;*cfj i;, /

fves on both wum L psed,
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